N of reco track vs dxy

10°

10°
10*
10°
10°

10

o T TN T T — T T —TTTTEy T T T

o

[N of associated (recoToSim) tracks vs dxy

10°

il

10

=~

10

10°

R

10

10

o

| N of associated (recoToSim) looper tracks vs dxy

Lt

Ly

TS YT
BOMT

|!nkF\ ~DQM_Towpiq_

=

EEC) o B B B B BLAb B B

e

DQM_TT__mkFit-DQM lowptq

b TR

—-25-20-15-10-5 0 5 10 15 20 25

095=50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz

°¥3p 20 10 0 10 20 30

0.

[N of associated (recoToSim) tracks vs dz_]

15-10-5 0 5 10 15 20 25

109

0¥3p 20 10 0 10 20 30




	Contents
	Page 1


